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（包括的単価個別合意方式）



HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
HUL R
= 1 157, 825, 284
w4 T
= 1 12, 474, 751
I L
m3 3,100 1,019, 900
el Twp =7y b L pEEME 5,
000m3 AV
m3 3,100 329 1,019, 900
7
m3 1, 800 9, 822, 600
PR (SR B - 2. bR
m3 1, 800 5, 457 9, 822, 600
FERTIE: 3N
= 1 1,632, 251
EE R (B) 1350) VI A 0 R O - kM -
m2 1, 250 858. 2 1,072, 750
IR S AC =R T T i 5] o0 i
m2 1,310 427.1 559, 501
LR T
= 1 66, 896, 730
EE LT
= 1 237, 768
R D +w
= 1 19, 608
MREL
= 1 218, 160
2947wy T CE7 my 5E)
= 1 45, 628, 212
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T (GEEM)
NN PVE = )R ny)
m2 2,220 13, 246 29, 406, 120
NN PVE = )R ny)
m2 738 15, 427 11, 385, 126
RCHE $ 200 L=2. Om
VN 193 25, 062 4, 836, 966
AR L
= 1 7,101, 702
NN 16-3-25 (7)) MRE50cm /& S 60cm
m 72 19, 947 1,436, 184
NN ST OwH ERAACEE)R S 3m SRR
FIIAE2. Tn
bie 114 40, 866 4, 658, 724
= 16-3-25 (FE4F) 1E50cm /& & 60cm
m 12 19, 195 230, 340
Wi R A Owh ERAACEE)R S 3m SRR
FIIAE2. Tn
bie 19 40, 866 776, 454
PoT
= 1 13,929, 048
NN PVE = )R ny)
m2 600 13,246 7,947, 600
NN PVE = )R ny)
m2 300 15, 427 4, 628, 100
RCHL $ 200 L=2. Om
VN 54 25, 062 1, 353, 348
AR [ ¥ 1T
= 1 52, 151, 067
EE LT
= 1 1, 396, 887
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T E (A5
PRAE D +w
= 1 115, 197
MRL
= 1 1, 281, 690
HRE 7 my) T
= 1 47, 810, 564
THIARE &7 vy ) BUE 3t
& 924 43, 304 40, 012, 896
FRE DT vy st 3t JERE
& 924 5, 982 5,527, 368
T IR [ D7 oy 2.5t & B Z5. 5tLL T FiA 7 - A,
G JERED 3 2. 0kmLA T
& 676 2,431 1, 643, 356
T IR [ D7 oy 2.5t% 5. 5tLL T FiA 2 - L]
G JERE) 3 2. 5kmLA T
& 248 2,528 626, 944
G
= 1 2,943, 616
&G H| L 50~150mm
m3 832 3,538 2,943,616
% T
= 1 26, 302, 736
B R B T
= 1 26, 302, 736
b TE A CEUL EHRY HET)
= 1 5, 253, 930
B S AVHE T O ALE]
= 1 267, 540
FEHIA (h=27) -1+ £50, 000m3 AT
= 1 254, 125
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THRXSy - THE - Fj - #051 B & HED & o (AEEM)
+m0 ) et KA+ 5 2t (H4ER)
18, 596, 052
+o 9k et KA+ 5 2t (H4ER)
1,931, 089
RN %Y
157, 825, 284
eSS
13, 411, 200
eSS
2, 489, 734
R
1,086, 279
R R o AL N 5
1,086, 279
Beilre e
14, 667
18 5 M T SE e A B
14, 667
BB YCE S (i 1)
1, 388, 788
HimE R (FE L)
10, 921, 466
MiTHEE
171, 236, 484
BTk X=giiv oy
39, 403, 081
R 5]
210, 639, 565
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
— e
= 1 32, 320, 435
TSk
= 1 242, 960, 000
THE B 2 %8
= 1 24, 296, 000
TG
= 1 267, 256, 000
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